
Making Change (H)

Name: Date: Score:

Calculate how much change is required for each transaction.

Cost of Items Amount Paid Change Required

1. £4.66

£5.00

2. £2.16

£10.00

3. £1.08

£10.00

4. £8.66

£10.00

5. £2.82

£5.00
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Making Change (H) Answers

Name: Date: Score:

Calculate how much change is required for each transaction.

Cost of Items Amount Paid Change Required

1. £4.66

£5.00

£0.34

2. £2.16

£10.00

£7.84

3. £1.08

£10.00

£8.92

4. £8.66

£10.00

£1.34

5. £2.82

£5.00

£2.18
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